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ASER BEAE THEER SREN ARER  E=
AOAGR( | £9) 202249A10H (1) 3 3 3 1.0
B gl AO A (11 #A) 202210818 (£) 5 2 2 2 1.0
. AO A (111 H8) 20224E3A4H (1) 1 1 1 1.0
S AOAZR(189) | 2022498108 (1) 7 7 7 1.0
DEBER AOAGR( I #A) 2022%10R1R (1) 5 6 6 6 1.0
AO A (111 HR) 20223848 (4) 0 - - -
AOAFR( | #A) 202249A 108 (1) 22 22 22 1.0
HEFH AOANE(I1 HA) 202210818 (1) 5 6 6 6 1.0
AO AR (111 H8) 202243 A48 (1) 0 - - -
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AOAGR( | #A) 2022F9H108 (1) 8 8 8 1.0
AR—=YHEFHE | AOAF(IIEH) 2022F10A1H (1) 5 1 1 1 1.0
AO A (II1HA) 2022%3F4H (1) 1 1 0 -
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